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Differential Equation
TTRA  HHIRTUT
Bachelor of Science (BSC-15/16/17)

2nd Year Examination, 2022 (June)
Time : 2 Hours] [Max. Marks : 40

Note : This paper is of Forty (40) marks divided into two (02)
Sections A and B. Attempt the questions contained in
these sections according to the detailed instructions given
therein.
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SECTION-A/( @US-%h )
(Long Answer Type Questions)/( €&l 3T a1 W9)

Note : Section 'A' contains Five (05) long answer type
questions of Ten (10) marks each. Learners are required
to answer any Two (02) questions only.

(2x10=20)
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Solve : p2+2pyc0tx=y2,

TA HIWT : p2+2pycotx=y2,

2
Solve : x4%+ x*(x - 1)a+xy x° - y.

e
TA HINT : x gy+x(x l)dxy+xy x° = y.

—X

Solve : x2D2y+ny—(1+x2)y:e
Ta we: 2D y+xDy—(1+x%)y=e".

Solve : y2dx + (xy + x*)dy =

T RIC ;. yidi+ (xy +x2)dy =
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5. Solve:

dx 2
X2 = =1
+t(x y)

dy 1
—+-(x+5y)=t
; t(x y)

T HIWT ¢

dx 2
Z 2 x-y)=1
t(x y)

dy 1
—+-(x+5y)=t
t(x y)

SECTION-B/( ©@US-@)
(Short Answer Type Questions)/( T I AT Y9 )

Note : Section 'B' contains Eight (08) short answer type
questions of Five (05) marks each. Learners are required
to answer any Four (04) questions only.  (4x5=20)
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1. Solve:3¢" tany dx+(1—e") sec® y dy =0.

T HIT : e tany de + (1—e*) sec” y dy =0.

dy 1 p
2. Solve: —=—-— tany =1+ sec y.
owve dx (1+x) y={l+xe Y
dy 1 x
T HIfT : == — tany =1+ x)e” sec y.
dc A+ x) y Y

3. Solve:

(xy sin xy + cos xy)ydx + (xy sin xy — cos xy)xdy = 0.

T HIWT ¢

(xy sin xy + cos xy)ydx + (xy sin xy — cos xy)xdy = 0.
4. Solve : x2p2+xpy—6y2=0.

T i : x”p” +apy —6y” =0,
5. Solve : (D*+3DD’ +2D")y =0.

T 9T : (D* +3DD’ + 2D)y =0.

C168/MT-05 [4]



6. Solve: —= y+t2.
dt

|8

TA R : dt :y+t2.

dx dy dz

7. Solve : = = .
wW(y? -2 ¥ -x) 2’ -y

dx dy dz

x(y2 N = y(zz D) = A — y2)’

TA HINT :

8. Solve: (D*+5D+4)y=¢™.

T Ffew: (D +5D+4)y=e>.
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